Math 102 – Quiz #13 (6.3 – 6.4, 7.1) 
Name ______________________________

Show your work to receive credit!

1.
Solve the following equations using the square root method.
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2.
Solve the following equations by applying the complete the square method.


a.
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More problems on the other side…

3.
a.
The discriminant of the quadratic equation 
[image: image5.wmf]2

axbxc

++

 is D = __________________________


b.
Write the quadratic formula for the equation 
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4.
Solve the following quadratic equation.  Find the exact solutions.  If the solutions are irrational, also approximate the solutions to three decimal places.


a.
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(exact solutions)
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(decimal approximations)

5.
Complete the chart

	Equation
	Discriminant
	How many solutions?
	What kind of Solutions?
	Is the polynomial factorable?
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6.
Perform the indicated operations.  Simplify the final answers if possible.


a.
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